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1. Complete the calculations. One has been done for you.

. Monika has £26.50 in her bank account. She spends e

. Sarah finished a Sports Day race in 14.45 seconds. Amina is 1.8 seconds

. ) T it ! LA 2, 5 fl'I
\ Nailed mL ]  ealewiation

[

- Move from the}.‘ -
a) 472 - 61 = b) 579 - 264 = i next column it
. youneedto.
472
-6l

il 411

..................

c) 86364 — D242 = ) 16,743 - 2,521 =

e) 753 - 64 = f 69423 -557.35 =

..................

5 marks

. Caleb buys a burger, fries and a cola. This is a total of 1,025 calories.

He then swaps his cola (170 caleries)-for water (O calories).
How many calories does his meal have now?

......... 1 mark

£6.25 on a birthday present for her sister. How much [ Make sure you

money does she have left in her bank account? keep,my.d?amal :
&, points in fine.

......... 1 mark

faster than Sarah and Casey is 2.55 seconds faster than Amina.
What were Amina and Casey’s times?

Casey ......... 2 marks
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1. A bus leaves the station with some passengers on board.

$3]

At the first stop, they collect 6 more people.

At the next stop, 11 people get off and 5 get on.
When they reach the high street, 4 more people
get off the bus. At the last stop, the remaining

& passengers get off the bus.

How many people were on the bus at the start

of the journey?

from Settle to Carlisle in three days.

The route has a total distance of £86.2 miles.

On the first day they cycle 37.7 miles to Kirkby
Stephen. On the second day they cycle a further
26.1 miles to Fenrith. |

How far do they need to cycle on the third day?

. Jahan and Niamh go shopping. They have £40 of

birthday money each.

Jahan buys clothes worth £4.99, £7.99 and
£25.99. Niamh buys computer games worth
£12.99, £16.99 and £7.99.

What is the ditference between the amount of
change they each haver

Start with how many
passengers were on
the bus at the end
of the journey and
work backwards.

............ 2 marks

. Members of a cycling club are raising money for charity by cycling

1

Work out the

- distance they have

travelled so far
and then subtract
* this from the total
distance. -

............ 2 marks

Add the amounts
by adjusting the
prices to the
nearest pound.
Then, subtroct the
- extra pennies.

............ 2 marks
11




